BIEE (1 Sv/h AlE
B UEIE (U S/R) | otk A B
1.0m 0.5m Kix
1 IS ET RIS A TS 007 0.06 £ 2828
(R N2 ) B
145 BT 7 2828
2 0.06 0.06 T
(RIR MR B
141 55 T 44 % S T 2828
3 0.07 0.07 T
(7 R 24 B
HIFET K E 2828
4 _ 0.09 0.09 Zih
(BEE AR EEH) = B
pi:: [0 0 7 N 2828
5 0.11 0.13 Zih
(h<h{<TDH) < .
pi:: [0 0 7 N 2828
6 0.09 0.09 T
(HHIB{ERBRT) Bh
7 *EFWEIET%JE 0.06 0.07 T 2A28
CRIREBBR) A
141 55 T 44 5 S T 2H2H
8 0.09 0.10 TAIF7ILE
(ST 1% 18) 7 Bh
HIEETH R 2H2H
9 0.10 0.10 TAIF7ILE
(B1EH SN BB E—) 7 B
10 5 FRT AN WS 2828
10 0.09 0.09 TAIF7ILE
GEDR HEQE-SEE) 7 B
11 *ﬁimﬁHTIEtEE 0.13 0.14 N—Ka—} 2A2H
(BT REERIS) A
14 55 T 44 5 S T 2H2H
12 0.10 0.11 FTAIF7ILE
CRUAR )1 )11 8 7 Bh
13 ?ﬂilﬂ_ﬁfﬂﬁfﬁ% 0.07 0.07 T 2R28
(EE R ) A
14 . HRIEHET £ AL 0.09 0.09 T 2R28
(EHaZ1=F—t9—) B
15 *qamﬁm_mgy 0.09 0.09 BE 2R28
(LBHaAZ1=F—tA—) =0
16 | HAEES 0.07 0.07 Qv H—Fk 2A28
(BAaa3a=F1—t45—) En




